ARTVINYU

Aluminum Profile Systems

LAVIN BIOKLIMATIK SISTEM PROFILLERI
LAVIN BIOCLIMAIC SYSTEM PROFILES

www.kenanmetal.com



- gaiiea KENAN METAL

S e somf ®

SunArt



Q: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES B

121

T
i

121

5 U
- B e s

N 158 ] Profile No kg/m

Profile No  kgim | 3220 |3.284

3217 4943 -
a7

S 13
U

138.5

Profile No kg/m

3224 |1328)

|

3 |l =
, 70,9 P":\rDl
C i T
18
| E g
Ll g ol
n\ L— 29,32

Prafile No kg/m Frofile No  kg/m
3218 |2558 3221 [1an | 3219 |2434




}: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES l’

Panel Profili
Panel Profiles

Product Code: 3224

Weight kg/m: 1,328
(138,5x30,4 x 1,3mm )

Orta Tastyici Profili
Mid Carrier Profife

Product Code: 3217

Weight kg/m: 4,943
(158 x 150 x 2,3mm )

On Tasiyici Profili
Pre-Carrier Profile

Product Code: 3219

Weight kg/m: 2,434
(170 x 28,32 x 2mm )




‘: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES

Direk Ayak Profili
Strut Foot Profile

Product Code: 3220

Weight kg/m: 3,284
(121 x121 x 2mm )

Yan Tasiyici Profili
Sidle Carrier Profile

Product Code: 3218

Weight kg/m: 2,558
(170 x 47 x 2mm )

Oluk Profili
Gutter Profile

Product Code: 3221

Weight kg/m: 1,111
(70,9x60x1,8mm)




N BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES

LAVIN BIOKLIMATIK SISTEM PROFILLERI AKSESUAR TAKIMI

5 2

¢ L
panel Sdo Cover Lon | Eorel Snegedt [Beifiman s [loltmlt RO AN K 4358 A e
Code : MB-1 Quantity : 1 Piece | Quantity : 1 Piece Quantity : 1 Plece J§ Quanlity : 2 Plece Guantity ; 2 Piece

Quantity : 1 Piece

E=ruiiiiiinie )
SEunRE

i

Panel Yan Kapak Sa Panel Yan Kapafj J] Panel Baglant Plastigi Kilit Plastigi 3,9%25 Alulll Vida 4, zxaz Akilli Vida
Panel Side Cover Le Panal Side Cover Panel Attachment Plasiic | Lock Plastic 3,9X25 Smant Screw Q4.2X32 Smart Screw
Code : MB-2 Quantity : 1 Piece Quantity : 1 Fiece Quantity : 1 Piece § Quantity : 2 Piece Quantity : 2 Piece

Quantity : 1 Plece

- ¥

Kése Takoz Profill Su Oluk Plastigl 120X120 Direk Ust Kapak Zemin Bafjlanti Sac
Corner Wedge Profile Water Gutter Plastic 120X120 Direct Top Cover | Floor Mounting Sheet

Quantity : 4 Piece Quantity : 4 Piece Quantity : 4 Piece Quantity : 4 Piece

120X120 Direk Bagdlantisi *

120X120 Direct Connection =]

Code : MB-3 E

Quantity : 1 Piece MBJ'H? Yuvarlak Bagli | M6XE imbus Civata | M5X25 Trapez Vida 4,8x25 Akilli Vida
Imbus Civata MEXE Imbus Bolt M5X25 Trapezoidal Screw || 4.8x25 Smart Screw
MEX12 Round Head )
Imbus Bolt Quantity : 8 Plece Quantity : 16 Plece Quantity : 16 Piece

Quantity : 8 Piece

n

Orta Ray Grubu =
Mid Rail Group Orta Ra Haqra.nu Saci MEX12 Havga Bagh M8 Kare Kaynak Somun RedOktdr Ust Kapak

nc-r:ddre & ﬁgf?zcé“mr " M8 Square Weld Nut Reducer Top Cover
] annechio freaf ountersun
Code : MB-5 mnection Shoe Head Imbus Bolt Quantity : 8 Plece Quantity : 2 Plece

. . Quantity : 2 Plece
Quantity : 1 Piece Quantity : 8 Plece

Kilit Saci Baglant Takirm

Lock Sheet Fastening Kit Kilit Aparati Saci IM}HD Havga Bash M8 Fiber Somun

bus Civala '
Code : MB-6 Lock Apparatus Sheet b S M8 Fiber Nut

Head Imbus Bolt

Quantity : 1 Piece Quantity : 4 Piece Quantity : 16 Piece

Quantity : 16 Piece



‘: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES I’

Baglanti Aparati Piston Fixing Sheet M6X 12 Imbus Bolt M8 Fiber Nut

Single System Piston
Connection Apparatus Quantity : 2 Piece

|Takl1 Sistam Piston |Fistnn Sabitleme Saci |MEJ(12 Imbus Civata |MB Fiber Somun

Quantity : 1 Piece Quantity : 2 Piece

Quantity : 1 Piece

Tekli Sistem Piston

Baglant Takimi Sag =
Single System Piston s | :
Connetion Kit Right '

Code : MB-14 M6 Fiber Somun M8X40 Imbus Civata M5X25 Trapez Vida
Quantity:1 Piece ME& Fiber Nut MBX40 Imbus Bolt M5X25 Trapezoidal Screw
Quantity : 2 Piece Quantity : 2 Piece Quantity : 3 Piece

Baglanti Aparat Piston Fixing Sheet  § M6X 12 Imbus Bolt M8 Fiber Nut
Single System Piston
Quantity : 2 Piece

Connection Apparatus J§Quantity : 1 Piece

Tekli Sistem Piston Piston Sabitleme Saci JM6X12 Imbus Civata M8 Fiber Somun
Quantity : 2 Piece

Quantity : 1 Piece

Tekli Sistem Piston

Badlanti Takimi Sol -
Single System Piston /| — el
Connetion Kit Left ;

Code : MB-15

M6 Fiber Somun M8X40 Imbus Civata M5X25 Trapez Vida
Quantity: 1 Piece M6 Fiber Nut M8X40 Imbus Bolt M5X25 Trapezoidal Screw
Quantity : 2 Piece Quantity : 2 Piece Quantity : 3 Piece

A
¢
l:

Orta Ray Sistem Piston [JPiston Sabitleme Saci IMEXiz imbus Civata IMB Fiber Somun

Baglanti Aparati Piston Fixing Sheet  §M6EX12 Imbus Bolt M8 Fiber Nut

Midle Rail System Piston :
Connection Apparatus Quantity : 1 Piece Quantity : 4 Piece Quantity : 2 Piece

Orta Ray Piston
Baglanti Takimi Quantity : 1 Piece
Middle Rail Piston

Connetion Kit ), b W
Code : MB-16 '

e T M6 Fiber Somun M8X40 Imbus Civata M5X25 Trapez Vida
Quantity:1 Piece M6 Eiber Nut M8X40 Imbus Bolt M5X25 Trapezoidal Screw

Quantity : 4 Piece Quantity : 2 Piece Quantity : 3 Piece




LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC

SYSTEM PROFILES B

LAVIN BIOKLIMATIK SISTEM PROFILLERI AKSESUAR TAKIMI

a
Em—"""
Rediiktdr
Reducer Reducer Internal
Connection

Quantity : 1 Piece

Quantity : 1 Piece

Rediktir Takim Paslanmaz Lama
Reducer Kit |Staf'm'ess Iron Rod
Code : MB-7

- : Quantity : 1 Piece
Quantity : 1 Piece

®

M6 Fiber Somun
M6 Fiber Nut

Quantity : 4Piece

Rediiktor g Baglanti

Reducer Externa Reducer External Cover

Connection

|Hﬂdukiﬁr Dis Baglanti |Rﬂdﬂktﬁr Dis Kasa

Quantity : 1 Piece
Quantity : 1 Piece

[

M4X16 imbus Civata
M4aX16 Imbus Bolt

Quantity : 1 Piece

M4 Fiber Somun
M4 Fiber Nut

Quantity : 1 Piece

]

mamz Havsa Bagl
mbus Civata
M8X12 Countersunk
Head Imbus Bolt

Quantity : 4 Piece

4.2x22 Akilll Vida
4.2x22 Smart Screw |

Quantity : 6 Piece

N
<G

Difiazor Kapadn

b

Kilit Saci Bag Son

/ .

Elektrikli Piston

TuZzo Rediiktér Kolu EPDM Conta
Diflizér Cover | Reducer Handle |Lock Sheet Head Last |EPDM Gasket IEJ'EEtﬂ'c Piston
Code : MB-9  Code : MB-10  Code : MB-11 Code : MB-8  Code : MB-4
Quantity : Quantity : Quantity : Quantity : Quantity :

Kilit Saci1 Orta
Lock Sheet Midle

Code : MB-12
Quantity :

izole Led
Insulated Led

Code : Pal-145
Quantity :

Trafo Dimmmer Ray ve Oluk
Rumance _aet. EPDM Contasi

ransrormer Limmmer 1
Control Set Gutter EPDM Wick
Code : MB-13 Code : Roll-16
Quantity : Quantity :



(} LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES

Kilit Saci Bag Ve Son Kilit Saci Orta

; Panel Yan Kapak Plastigi
F?é‘nlgg'ﬁﬁgfr E;gg}e Lock Sheet Head And Last  Lock Sheet Midle _ Panel Side Cover Plastic

Kose Takoz Profili

Vs . i/ ; 4 dddqadaddss '.! Py R A TN\ Corfer Wedge Profile
Plastik Kilit qgTaAa ; | ' .
Plastic Lock Vi, l | |
- -.‘-'; y e -I_.- ._ .:..:I.. - ._ .:";I Sl LE s ¥ | i | i | i, ; '-'

| AL
Rediiktdr :

Direk Ust Kapak Yan Tasiyici Profil <—/ Panel Profili | Reducer
Strut Top Cover Side Carrier Profile Panel Profiles

Kilit Saci1 Aparati o
Direk Ayak Profili Lock Sheet Agparams Panel Fitili Rediiktor Kapagi

Strut Foot Profile Panel Fessure Reducer Cover

i e e e e o e e g o o g e o g o g g g j :

‘) .

Su Oluk Plastik Diflizér Kapadi ‘
Water Gutter Plastic Diftizér Cover

Oluk Profili izole Led
Gutter Profile Insulated Led

Zemin Baglant Saci Direk Ayak Profili
Floor Mounting Sheet Strut Foot Profile

M



‘: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES




‘= LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES




}: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES B




Q: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES B




Q: LAVIN BIOKLIMATIK SISTEM PROFILLERI / LAVIN BIOCLIMATIC SYSTEM PROFILES




=
o
Lad
=F
4
<
yr
L
.

www.kenanmetal.com

=r<

("_""\

] 4..,.-.-.-
<
“



KENAN METAL

(ol [ PN
Y Y

Aluminum Profile Systems SHMﬁ

KENAN METAL ALUMINYUM PROFIL A.S.

A

I E E Merkez: Atatirk Bulvan Mahmut Torun Plaza No:54

e Dis Kapi No: 2/7 ig Kapi No:2 Basaksehir / ISTANBUL
P Tel: +90 212 485 60 35 Fax: +90 212 485 60 46
[=] Fabrika: Velimese Mah. Kandil Cad. 329 Sk. No:7 Ergene / Tekirdag

info@kenanmetal.com - www.kenanmetal.com



